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I. Vocabulary (16%)

1.Do not fight with anyone, nor , hor slander anyone, because eventually, it won’t do you any
good.
(A) retrieve (B) retaliate (C) restrain (D) repress

2. The study of the culture and behavior of humans is called
(A) sinology (B) ecology (C) phonology (D) anthropology

3. Sometimes adults have more __ notions than kids do, so it is more difficult for adults to accept
new conditions.
(A) prepared (B) previewed (C) prevented (D) preconceived

4. In his speech, the professor some lines from T. S. Eliot’s poem “The Waste Land.”
(A) extracted (B) entitled (C) prohibited (D) distressed

5. People like to eat in a place they are familiar with rather than try a new place they know nothing
about. This is the philosophy behind :
(A) franchise (B) penance (C) referendum (D) accommodation

6. Mary is happy about the popularity in the use of typewriter and computer because she always feels
that it is unfair that kids who happen to have bad handwriting are at grade time.
(A) solicited (B) penalized (C) distinguished (D) demonstrated

7. Make sure you drink a lot of water when you exercise on a hot day; you don’t want to get
(A) detergent (B) dehydrated (C) decomposed (D) defrosted

8. The medical examination showed that the man had died of a heart attack.
(A) postmodern  (B) postmortem  (C) postnasal (D) postnatal

Il. Grammar (14%o)

9.The proportion of the workforce that _ computer skills will decrease as people not having those
skills get retrained or retired.
(A) lack (B) lacks (C) lacked (D) has lacked
10. I often think of the high school | went to and the teachers there.
(A) where (B) that (C) what (D) when
11. Some people argue that many pyramids built in Europe.
(A) have been (B) had been (C) have being (D) had being
12. He is incapable of forming a deep attachment to
(A) do any paintings (B) paint anything (C) any paintings (D) have painted anything
13. His English is so poor that he cannot make himself
(A) understand (B) understanding (C) understood (D) to understand
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14. Her youngest daughter was seldom made the table.
(A) clear (B) clearing (C) to clear (D) to be cleared
15. The British museum the skull they bought wasn’t genuine, or they wouldn’t have bought
it.
(A) couldn’t have known (B) mightn’t have known
(C) may not have known (D) must have known

I11. Reading Comprehension (30%0)

Technology and cultural shifts have given rise to new careers while slowly making others disappear.
The following jobs are slowly fading out and probably won’t be around in 10 years. First, with the arrival
of self-service checkouts and automated processes during purchasing, the typical retail cashier will
eventually fade away as a career. Second, old fashioned telemarketing is slowly becoming a job of the
past. Nowadays, people don’t use the phone as much as they used to. With other more efficient ways of
communicating — such as email or texting. With email marketing on the rise, telemarketing will no longer
be found. In addition, with the rise of the internet and the ability to book trips on the internet, travel
agents are slowly fading out of the system. Gone are the days where we need a third party person to find
the better deals when travelling, because the internet has made that ability so much easier for us. What’s
more, ride sharing apps have created a new normal for the way the average person acquires transportation.
Calling for a cab is going to be non-existent with the rise of apps with GPS technology. Taxi drivers will
have to follow the trend in order to keep their business afloat. Last but not least, it’s no surprise that print
media is fading out of the industry. More and more consumers are going digital when it comes to
entertainment and news. Publishing companies have been having a hard time keeping up with the times.
These industries are slowly fading out to give rise to new digital media companies.

16. What is the passage mainly about?
(A) To suggest future dream jobs for young people.
(B) To predict future development of some jobs.
(C) To discuss the advantages of certain careers.
(D) To introduce the origins of online shopping.

17. How many industries are discussed in the passages?

(A) Three. (B) Four. (C) Five. (D) Six.
18. Which of the following jobs is NOT mentioned in the passage?
(A) Bus drivers. (B) Sales clerks.
(C) Travel agents. (D) Telemarketing representatives.
19. Who might be the most intended audience of this article?
(A) Famous movie stars. (B) Graduates from colleges.
(C) Online shoppers. (D) Store owners from other countries.
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20. According to the passage, which of the following is NOT true?
(A) GPS technology will change the way taxi drivers do business.
(B) Smartphones are getting more and more popular so are telemarketing.
(C) Thanks to internet we no longer need travel agents to book tickets for us.
(D) Print industry are losing customers, who are using digital resources now.

If you're only drinking your tea, you're missing out on a world of delicious culinary opportunity.
When making pasta, rice, oatmeal, or any grain that is traditionally cooked in water, choose a tea with a
flavor that matches the dish; brew it, and replace the water with it. Cranberry, peach, mint, and lemon all
add a dimension of flavor that water could never bring, and it's a great alternative to adding sugar, honey,
or other calorie-infused sweeteners. Try cooking oatmeal with peach tea for a fruity start to your day. You
may also replace water with tea when making a smoothie. Brew your favorite flavored tea, let it cool,
freeze it in ice cube trays. The next time you make a smoothie, use the flavored tea ice cubes instead of
water to add another element of flavor in place of water. You may also try it in your soup. Add a hefty
pinch of tea leaves, along with all of your other ingredients, to your soup. You will love the delicious
flavors and health benefits of the teas. In addition, Matcha is a powdered green tea with a variety of health
benefits, such as cancer-fighting and immune-boosting properties. It is loaded with antioxidants that may
aid in brain, heart, skin, and other health benefits. Sprinkle Matcha powder over ice cream, salad dressing,
or into marinade and smoothie recipes. You can also use it in bread by adding two teaspoons for every
cup of flour.

21. What is the passage mainly about?
(A) To suggest the health advantages of drinking teas.
(B) To introduce new ways of adding teas to food.
(C) To discuss Chinese and Japanese tea cultures.
(D) To emphasize Matcha’s health benefits.

22. Which of the following food is NOT mentioned in the passage?
(A) Pasta (B) Oatmeal (C) Steak (D) Ice cream

23. Which of the following procedures is NOT mentioned in the passage if you’d like to add tea in
smoothie?
(A) Brew the tea.
(B) Chop tea leaves.
(C) Cool the tea.
(D) Put tea in a refrigerator.

24. You are most likely to get to read this article in
(A) Cars and Sports
(B) Travelers’ Guides
(C) Fashion and Clothes
(D) Health and Nutrition
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25. According to the passage, which of the following is true?
(A) Japanese’s favorite drink is Matcha.
(B) Fruit teas is not as good as green tea.
(C) Tea leaves cannot be added to soups.
(D) Matcha can strengthen immune system.

According to a CDC report, women keep having kids later and later, and the number of women
having kids after age 35 is on the rise. In the USA, the average age of women at their first birth has risen
over the past 4 decades, and since 2000, 46 states and DC have experienced a rise in the first-birth rate for
women over 35.

Given what we know about the risks associated with pregnancy at later ages, should we be worried?
“A healthy 40 year old can have a much less risky pregnancy than a healthy 28 year old,” says Dr.
Rebecca Starck, chair of the department of regional obstetrics and gynecology at Cleveland Clinic. Starck
further notes if she prepares her body for pregnancy with healthy food and exercise. Once pregnant,
eating well, gaining the right amount of weight and living a healthy life. The new report also shows that
first time older mothers are generally more educated and more likely to have more resources like higher
incomes than women of the youngest reproductive ages.

But the over-35 set still tend to face more risks and complications. For instance, the risks of having a
child with a genetic disorder rise after 40, says Starck. It’s still very likely the baby will be healthy and
won’t have a chromosome problem, she adds, but the risk does go up proportionally with age. Why is
there a greater risk? It’s because females are born with a limited supply of eggs, and just as all other parts
of the body age, so do eggs. During the dividing processes, chromosomes are more likely to become
displaced in older eggs, and that can lead to problems.

Every woman has to make her own decision. For those women who are very adamant that they do
want children, they should be concerned about the risks of having kids late. Or “egg freezing is something
to consider,” says Starck.

26. What is the passage mainly about?
(A) To introduce potential defects caused by chromosome problems.
(B) To discuss the phenomenon of women having kids late.
(C) To emphasize Dr. Starck’s viewpoints.
(D) To promote Cleveland Clinic.

27. What does the pronoun “she”, underlined in Paragraph 2, refer to?
(A) A healthy 40 year old.
(B) A young career woman.
(C) A worker at Cleveland Clinic.
(D) Dr. Rebecca Starck.

28. The word “adamant” in Paragraph 4 is most likely to mean .
(A) risky (B) determined (C) healthy (D) reproductive
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29. According to the passage, which of the following is true?
(A) Dr. Rebecca Starck had her first kid after age 35.
(B) In the USA more and more women are having kids late.
(C) Women over 40 are healthier than those in their early 20s.
(D) Chromosome problem occurs to every pregnant woman after 40.

30. What is most likely to be the theme of Paragraph 5, which follows the last paragraph of the passage?
(A) The department of gynecology at Cleveland Clinic.
(B) The career of Dr. Rebecca Starck.
(C) The techniques of egg freezing.
(D) The content of the CDC report.

IV. Please translate the following into Chinese (20%b)

Here is a picture of the nine-dot problem. The task seems simple enough: connect all nine dots with four
straight lines, but, do so without lifting the pen from the paper or retracing any line. If you don’t already
know the solution, give it a try — although your chances of figuring it out within a few minutes hover
around 0 percent. In fact, even if | were to give you a hint like “think outside of the box,” you are unlikely
to crack this deceptively (and annoyingly!) simple puzzle.

And yet, if we were to pass a weak electric current through your brain (specifically your anterior temporal
lobe, which sits somewhere between the top of your ear and temple), your chances of solving it may
increase substantially.

(Excerpt from Scientific American)

V. Composition (20%)

Online networking and online social communities nowadays are so widespread in our life. Many people
use at least one social media platform, but we may still have some questions about social networking. Is
online social media safe? Is it helpful or harmful in our life? Write a composition in English to discuss the
advantages and disadvantages of online social networking.




